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The events are not independent, so P(red second | red first) is not the same
as P(red first).

P (red second and red first) = P (red first) - P (red second|red first)

0.6 or 60%

0.52 or 52%

0.53 or 53%

0.45 or 45%

They are dependent events.

P(Game Design|Sophomore) ~ 53% and P(Game Design) = 50%, so
P(Game Design|Sophomore) # P(Game Design). Therefore, they are not
independent events.

0.08 or 8%
45%
dependent

No. Use the conditional probability formula to find the probability that a
patient taking a placebo improved.

P(Improved and Placebo)

P(Improved|Placebo) = P(Placebo)

47

_ 200

=82
200

~ 0.57

P(Improved|Medication) ~ 45% while P(Improved|PIacebo) ~ 57%. Patients

taking the medication showed improvement less frequently than patients
taking the placebo.

0.225 or 22.5%






